o T L DR B L SE R S

B

3

a® 98rmié Hever ( trophic level ) Wedlmha @{@g,g G Crmls Heradg %mrpw

OIDOCUIBEUS] vovererrrrrreressreeenn, e gfsmgp&&uu@\aﬂg)@
A} D @l B) 2 ewiey Qlesey
C)  opusd D) Sevgapse.

The transfer of energy from one trophic level to another level is called
A) ef)ergy flow B} food web
C)  production D)  decomposing.

Epbao. arsuisamens soue :

anbny (A : gusbu Qhdunele eifle safivs Qedeaiissr Qe b sieirena.

HITEEo1h (RJ' © Suspu @hdureler Bls ofsaale o DHDID  WITHDKHL

LT eoma e simevstl @l etment .
Gleubgyel :
A) (A ef (R) seupy
B) (A sfl (R) o enjaonsngid
C)  @Guamein ef
D) @gs&m@fu Seuml.

Consider the follbwing statements :

Assertion {A) . The mineral wealth of India is largely confined to the penmsular

India.

Reason (R} : Peninsular India has enormous quantity of

Metamorphic rocks.

" Now select your answer according to the coding scheme given below

A) {A} is correct, but (R) is false
B) - {A) is correct and (R) is one of the reasons
C) Both are correct

D)  Both are false.
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3. sr@j‘&rﬂujrras QurphdlyeTers: 2

A)  H&end puom — UGhrev gidend
B)  9RNAeSNyrsp prGar C— ahButsmD
C)  prpsjrudlad] — QouGseuft
D}  &slanalhsh —  GEQDEIIT.

Which of the following is correctly matched ?

A}  Tughlagnama —  Firoz Tughlaq
B} Prithviraj Raso — Chandbardai
C)  Rajtarangini — Jayadeva

D) Gitagoviﬁda —  Kalhana,

¥

4. ‘drpoeudest erebiug)
A) & etioTi e1160TiD B) ' dpGapsr®
C}  angpflyrd D) Smeddedliypamt.
‘Thiruvekha' is
A) Tindivanan B) Thiruverkadu
C}  Kanchipuram D) Srivilliputhur.

5. a2.88 powap BHudlsdid pucagdbers Cslu g @‘Lsmswrujm ghuGss
Couatiid aeor uflhgiy CQels oyeemmuD g

A)  rdlusenniiy oy ey By e
B) ireurs Frdmss B}, 6T ILID

C)  phsmptd Bleugr oy amemsuD

D)  elutanmes oy eaoomui.

Which commission had recommended to establish a National Judicial

Commission for appointment of judges of Supreme Court ?
A) Constitution Review Commission

B} Administrative Reforms Commission

C) Ranganath Mishra Commission

Dj Liberhan Commission.

x[11001]
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S GarremaniCuraudldlar, CuGemieds Qshallamd srsauu@h spiy i

A sy Crmie B)  o&eCLnélel

O eunGamliydlemn | D) = oy Merefleir.

What is the hormone produced by the basophilic cells of the adenohypbphysis 2
A)  Thyrotropin B) = Oxytocin '

C)  Vasopressin D) Adrenaline

B700-6%\(®(ha) L&&:era GODHSULEDTE b aam@ens & ssTe g sflurs 9-9y
UGB

A) 2 By 3

C) 4 ' Dy 5.

The least number which must be subtracted from 6700 to make 1t exactly
divisible by 9 is

A) 2 B) 3

C) 4 : D}y 5.

gpeaoL. Cgmyseie ahs o Gory aés uflorTamisoa Qubdlpssaiaame ¢
A} Gesemes whHnd Hmiy afle '

B) GCener 2 fheid whpih Nermi wirHied

C) &ardasTée whpb 2 Hsb
D) feoaws Selysdpar wbpb ellesllar Hpussine.

Qut of the following pairs, which one does not have identical dimensions ?

‘A) - Work and torque

B)  Angular momentum and Planck's constant
C) Impulse and momentum
D) Moment of inertia and moment of force.

ohs LTHasHbEe s FHucamiotilles WeeTas L asnesonlies @&wuug;gp@

ey, “Benacmst rBleud” 6T SbGevg euPRSLLL L&l ?

CA) | spibp bpn STeigdit B) $&fd

C} Gusremwr D)  sypewimése NrBsely.

Which state had been given the status of "Associate State” before it was added to
the first Schedule of the Constitution ?

A) Jammu & Kashmir . : B) Sikkim

Cj Me ghalaya "D} Arunachal Pradesh.

gy e s
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11.

12.

13.

G-24 GTEDILG eevveeeereereanrernns &6 Fpiy Sjemwty
A) UN B) G-77
C)  UNCTAD D) UNDP.

G-24 is a specialised hody of
A) UN By G-77
C) UNCTAD D) UNDP.

ahs desams &:éml;rggorrgmb sfler geiremwllest aiflugems Gy SyeTaurssd sTLGD

&ULTESTHET §)eUeury Syeopéhes Il et ment

A) CoumuBS EID & enTLILIT 66T | B) B oiers serliume
C) LCrmligé sempliumes &ef D)  ower Osiyd senFluTes &ef.
A solvent in which various acids appear equally strong is known as
A) differentiating solvent - B) non-aqueou's solvent
C)  protic solvent A ' D)  levelling solvent.
SOIPEHT 460 THHERT (PHETEND FOD(PSHEGET 2 66t ?

A) 2 ‘ B) 3

C)y 4 ' D) 5.

How many major harbours are there in Tamil Nadu ?

A) 2 B) 3

c) 4 D) 5

ngleon ey QGMLBSLILLL. BLETOTE ..ovverenreaens .

A) 1592 B) 1600

C) 1601 ' ‘ D) - 1605.

The ‘Madura Misston’ was established in the year

A) 1592 | B) 1600

C) 1601 D) 1605.

x 11001} )
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15.

16.

17.

Rt LS. o - e

7 ACSA
& ipaavorl_euhryel erg IMF-681 QST FLemL W 2 GoTemIs Sapmy 7
A) @& UNO-flét gpif shugimuesnd pyeve
B) 2 avapdlguenen ehg b igh@id ST aPRSHEITD
C) (I HITLLIG 68T rbley @{Ua;&,@és@ 65T CLLPMEIGHEVITD
D) 2 ply prHeeEnss bl GO SLT euphiGh.
Which statement of the following is true for IMF ?

A} It is not an agency of UNO

B) 1t can grant loan to any country of the world
C) Itcan grant loans to state government of a country
D) It grants loans to only member countries.

SoiabHGDh Gl Boens  sealsdl b wikelw Fopsprer  elprale
FOUBISHULILL G| ? '

A)  Quflumi B) eflenT otoresonT

C)  amoymet D) e &Y. @rmwéendlyer.
Universal secondary education is named after the birthday of

A) Periyar ' B)  Aringar Anna

C) Kamarajar D)} M. G. Ramachandran.

ot wysHer auwerg @56 apevid HerTddlieuTid

A)  @evevsefle erasoreotllbans B) davengeficr acnranilsame
C)  HeIH suemenuiiser D) wysdlar e wrgib.

The age of a tree is determined by

A) number of leaves B) number of branches

‘C) annual rings : D) height of the tree.

eurRBur ereiTn) SEPESHLILHD B TG 7

A)  mRET | B)  &meipeoonm
C)  Gyowusdgr D) Gargmeufl,
Which river is known as Tsangpo ?

A) Ganga B) Krishna
C) Brahmaputra D) Godavari

x [ Turn over
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18.

19.

20.

21.

'B) Qurg dineuetikseies 2 ufl eumheumis

Qeutiv GQussaiuelles was aldlurera

A} Qeniud wrpyey B) Gouewes wrprg

C) 2_HGD WLIDTE D) 3 Hmev rmrg.

The first law of thermodynamics is a statement of

A) Conservation of heat B) Conservation of work .
C) Conservation of momentum D) Conservation of energy.

1977 gytp gievoriger merst sl ol 2 (haurs@sele @)L b QupTg &8l ag .
A)  ungdu Cevrdger B)  gen shisb

C} QGarsddevl sl 8 D) dHerer wevgrt iyer aldl.

Which one of the following partiecs was not in the formation of Janata Party
in 1977 ?

A) Bharatiya L.okdal B} Jana Sangh

C}) Socialist Party _ D)  Kisan Mazdoor Praja Party.

EPHTTIL. eIhS TN P HedT QUGBTI Y STTOOOTSHE ? ' )
A)  auflser

C) wirhny O&eysgens

D) 2 eMmprl@ sLstser LHpb ealilser Syl .

Which one of the following sources is not considered as a source of good
revenue ?

A) Taxes

B) Surpluses of public enterprises

C) Transfer payments

D) Mobilization of internal loans and depbslts.

SODHTG 651 (L el & Gnenl eTedTD) llenhigD 2eniT eTg) ?

A)  lmpapst B} Gaeb

-

C) aGuu@ D]  mOns&se.
The place known as egg basket of Tamil Nadu is
A) Virudhunagar : B)  Salem

C) Erode D} Namakkal.

x [11001]
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9 ACSA
&?QG’:WLG%J@)@JG'T AerGadlili 1. arGeneme ey srhHugsamrs aSiofdlssiuLg
gt 2

A)  enswed @@‘ - B)  Gnom odéas

C) Afldev graseay D) seninésyoes THEGD.

Which of the following was criticised by Gandhiji as ‘Post-dated cheque’ ?

A) Simon Commission B) Nehru Report

C)  Cripps Mission ' D) Cabinet Mission.

Gym_ el urd eenLBD QeeeICatu suryresd Sy GRoBH@mea surfés
UeETURSSLUED 2 Jb eTedT HUSTRT Tere G Clelwiuie. 2.mb eg 2

A} onQoreiiubd ept Gyl B) P
C} opCurahun gCearar® D)  oCureud LrevdeGuL. .

The fertilizer chemical used in the making of roadside bomb, which was banned
by the Afghan Government is

A) - Ammoninm nitrate B) Urea

C} Ammonium chloride D} Ammonium phosphate.
glpET & Ghdu efarCeuetl guymisd Hipeersdlesr Fyen aflQurmet oyymbsd
D Hehaieien @ (b |

A)  @orydlfl ' B} easdlfl

C) padlerdifl A D) wGshdlydhf.

The location of Indian Space Research Organisation's { ISRO ) Liquid Propulsion

System Centre in Tamil Nadu is

A) Kumaragiri ' B)  Sankagiri

C)  Ratnagiri . )  Mahendragiri.
eﬂﬁg;sé‘rsmmrre@ @oes Comdlanend sliguant wrt ¢

A)  Lhersd B) (B&rrgpr‘rmﬁr

C) urrc&mqmr‘r&,efr . D) Gayieef,

Who built the Sittannavasal Cave tempile ?

" A) ° Pallavas : B) Cholas

C) Pandyas D)  Cheras.

.
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T e o e e,



ACSA

10

26, urguwéd I & uwlguée II oL QurEpsd, ECp Qer@sstul@erer  Lwew
Qesdunsaeyd prerdfluismeyd Goeanss Sipad GPDUEGHos Cerasnd
gflures aleoLsows CaihGs® :

utigwé 1

vwesor @)evd Slwkis et

a) UJpurest @)evdehub
b)  sfips gra
c)  wGadlur e &eTLTaiemy
d) rj,rrst'n SeooT. goLILITesT
eO@ser :
a b c d
A1 2 3 a4
B) 2 1 4 3
C) 4 3 2 1
D) 3 4 1 2,

=

uogwe I

2, iflwir et

. &g pry@

g. Gs. Qelgumt
SHONDHTWES B &6

QembBeu

Match List I { Works of Travel ) with List II ( Authors ) correctly and select your
answer using the codes given below :

a)

b)

c)

d)
Codes :

a
A} 1
B) 2
C) 4
Dy 3

x

List 1
Works on Travel
Pirayaana Elakkiam
Tamil Thoothu

Malaysia Muthal Kanadavarai

Naan Kanda Jappan

b c d
2 3 4
1 4 3
3 2 1
4 1 2

Ll

List II\
Authors
G. T. Naidu
A. K. Chettiar

Thani Naayaga Adigal

Somale. )
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27. . Cadlu sramalué yher Blhe S@uobgistors

ACSA

A)  scongat B)  yg Ol
C}  umemgd D} esGam.
' National Botanical Garden is located in
‘A)  Chandigarh B) New Delhi
C)  Panaji D)  Lucknow. .
28. cusiein_evgdlest Gueévumrear Ganiu Gy elldgh erug
Al 4° C gdiQeurg 100 U566 B) 6'5° C geQeur@ 1000 SlL@é6
c) 1°cC Geuleun 165 Bl Bée D) 1°CgdaQeang 111 8L Gée.
'I;he normal lapse rate of the atmosphere is
A)  4° C for every 100 metres Bi 6-5° C for every 1000 metres
C) 1° C for every 165 metres D) 1°Cforeveryill met;‘es.
29. dipssaoeupnier opuliear & weavpeowt ubdu s sniDI) 6TH 7
A) ST GPHES LATHDS 2L5MHSTT
B) . Seut yeoig Lwesor eufleow s Gedigmt
Q) flur eudlenw alldlgant
D)  uegny beTHEDEG sTaElBHIT.
Which of the following statements on the administration of Akbar was true ?
A) He encouraged child marriage B)  He abolished pilgrhﬁ tax
C)  He imposed jizya tax D)  He supported polygamy.
30. el erev'mmcoﬁr Henidd He
3,10,42, 166 ,........ :
A) 600 B) 460
C) 666 : ‘ D}  555.
Find the missing number in the following -
3,10, 42, 166, ........
A) 600 B} 460
C) 666 D) 5565.
x 11001} | { Turn over
' {
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31. Spsscn_subner angliur weseNer surariiucdugelbd erg 2

A).  Ceorgmév B) eardflunisn

C) amglur D) GureegestCym.

Which among the following was Harappan trading centre ?

A}  Lothal B} Kalibanga

C) Harappa D) Mohenjodaro.
32. sfipasdlé e QumPlew Twanshe LLESTURSSILL L TWéHEl

A) Qagen \LﬂleTL& B) dgmb

C} dlypsd D) Spred.

Which script was used to write ‘Vadameozhi' in Tamil Nadu ?

A) South Brahmt B) Brahmi

C) Kranti D) Prachi.

33. dpescoiL eursdlunseners seudil

gaibmy (1) . eoanwuidles arhsiardar FQeadlldar p-Oehas @ dadlaas
LA

gy (1) . Gememiusdlett arhetard S Géselldr a-Osaael GEp&HETaneT
ESEAYAR

@G‘U[b@]sﬁ :

A)  smppiset (1) wbmo () Gy G &l
B)  aabmyser (1) bHod (1) Gesr GG seumy
C)  &npmy (1) sM, sy (1) Heumy

D)  eapm () seun) sabmy (1) el

Consider the following statements :

Statement (I) . In pancreas, Insulin is secreted by f-cells of islets of
Langerhans.

Statement (II) : In pancreas, Glucagon is separated by o-cells of islets of
Langerhans.

Now seclect your answer accordiﬁg to the coding scheme given below :
A) Both the statements are frue

B) Both the statements are false

C) Statement (I) is true, but Statement (II) is false

D) Statement (I) is false, but Statement (II} is true.

x [11001]
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34. @Qndu sirluassowiilesn, syder afer @b CQplponsst &pacuanasEne,
SFleULg0Te 2 aTeTL &al QUDDQLTGD ’
A) ofldy gyures srfluesmoiy B) sowfés yréflueenniiy
c) @lﬁ:ﬁe\m&,g} Sr&luevenioliy D) evdlCredlum oyyélwevemiori.

The Directive Principles of State Policy of the Constitution of India were mostly
influenced by

A)  The Constitution of the Irish Republic
B) Tﬁe Constitution of the United States of America
C)  The Constitution of thé UK
D)  The Constitution of the Australia.
35. iyl QurdhtueyseTe (peossan SHmHad |
A) QussDr B) Qprdlser
Cl  @Gesaanisd GuegHT D) sLsdlesl.
The molecular tool for Genetic Engineering is
A) Ho;mones B) Enzymes
C) Pheromones D)  Vectors,
36. Qeuellrg yereaflaleurn eriig 2 LCursliu@ s sinGSng ?
A) Qe Blevevd sweTumHser B) (s Blenes afleuyhd
C)  @ueor_mb Hever afleurid D) HrL eSessi.
Unpublished data are uséd in
A) no-n‘na] equations B) primary data
C)  secondary data D) standard deviation.

37. abg eymefl pever aplisseare ( Letenaleugsdlet arcvemen wdliyser ) flab
urdlssliu@alne 2

Ay sl B) - @eovflow
C)  Qupées sgrefl | D) &l 0é symel.

Which average is affected most by extreme observations ?

A)  Mode . B)  Median
C) Geometric mean D) Arithmetic mean.
x : [ Turn over
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38. alewssen eluuTapan Comy s GBeGD aaD (pg e GHIEED ald)

A Byl eller Gromh afid B) dlyl el e ald
C)  mlylieaile apesprd edd) D) siuSlweel updiu dlyl e alld).
Forces always exist in pairs which was the result of
A) Newton's second law
e
B) Newton's first law

C)  Newton's third law
D}  Newton's law of universal gravitation.

39. opflue geowin) 124-0 srrd Jfleldr &p £Cp  amprn@etereupiies  erg
Glgm_fryen_wg 7 ' |

Al s wbdflleér eyfemyhset B) sopdlué slwnrhn peon
C) @by és Blwepd D) Jysw wpdh Coiey (wen.
Article 124 of the Constitution deals with

A)  the powers of the Prime Ministers

B) the amendment procedure

C)  the Supreme Court of India

D)  the election of the Prime Minister.
40. Ul Qusssars CeLmudlueur

Al pswLE e B) Qseras 6l

C) geurhl sygTeThet D)  Oueneumesm e HED Pers.

Tablig movement was started by

A)  Mohammed Ali " B) . Shaukat Ali

Q) Swami Shraddhananda D)  Maulana Abul Kalam Azad.
41. QGemgub srruGel Bifléd seysg Sl &sEGh sansale areoiu@os

A) ybes se&roow

B) STTH &60TMD

C) @l}eo’m@fn 2dp HEHlme B

D) 2jfleuld wiHpID Hryb @b ST,

x[11001
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An aqueous solution of sodium carbonate ic

A} acidic B)  basic
C) neutral D)  amphoteric.
42. @hglurelss s wpédluore surediubarHee aaLg
A)  BWIGHDT DETOTL &Y LIS eDTDT S HT (e e
B} SISTT DEITTL_6 B -LIG el LTS ST RGel '
C) e wedn_o Glemewdlit s [Haser
D} eendliflemens sr@ser.
The most important commercial forests of India are
A} Tropical evergreen forests B)  Tropical semi-evergreen forésts
C) Tropical deciduous forests D)  Coniferous forests.
43. grepsEr..  UUBSED GHALTEIDGD e H@d Blei-Cu
@&OWRSSTRISE.
A)  Femn B) #H0Ous
C) uﬁaﬁ?dug;ne&r D) (Br_r;urrmfo:
The Tashkent declaration was signed between India and
A) China | B)  Tibet
C)  Pakistan 7 D) Nepal
44, @g;é\mrrsﬁleo Couerrasorens aufl alPiug Hesarars gCearaiié
A)  Pe 2 Lo Sgpevrer LI 66VT & 2 6Ty
B)  2.pupdl LIGeUSTRSOSHS ST HSS
C) 2waipdd aps prpscignd Ceaameasaon sufl alfsauuBaudidvme
D) mrﬂeﬂé}aug,g')e;rrm Srdluer  edlprubleremn  Hpib mrﬂ UGILILSHSTeoT
Buéwl L Gewe) sfenrs QBoseo.
Agriculttiral taxation in India is difficult because of
A) scattered nature of land holding
B)  seasonality of production
C) tﬁe fact that agﬂculture is not taxed anywhere in the world
D)  increasing overhead cost of tax collection and the lack of political will.
x ‘_ ' [ Turn over
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45. esreaflosliu@sss :
I apastpmd sul L Guengy wrBrE
II. @eésblarenc
I yeorm 2 L g beng
V. erpdl-@iales Q_Léﬁruqe'f,sc)es:
Qeubmpef :
A) L IL M opgid IV B) IV, 1L I oo I
C) I, 1V, lopyod II D) TV, IIL T opmyb I,
Arrange in chronological order :
L Third Round Table Conference
II. Communal Award :
II1.  Poona Pact
IV. Gandhi-Irwin Pact.
Qf these
A) LU dandlv B) IV, II,landl
C) I, IV, 1l and 11l D) v, 11, I and 1I.
46. Ggdlu Hymp Ceusveseumiinyg H i sHibe QUTEDHETE sabmy a5 2
A} wpHu opETe FgHudsHsiL L L b
B)  Ayroiyp Geuemer sumiiiysenerts Quite eyeraler 2 meurd@eug ereiTug) @6t
@mr&eb
C)  @sfllsdlaiuyg Gomesarar sellllar gn ued usTwIsab, QG UGS
sreilunrsab euphslu@E
D) @ sdliL b STPEHULLL.  Gler Sdleont @b, LPEGY @) WESE@HHGSD W {HD
Geuemen sumbliysemer yefl&dlen spestm. —
x [11001]
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Rural Employment Programme ?

A) It is a centrally sponscored scheme

ACSA

- Which of the following statements is not correct in the context of National

B) It aims at creating larger avenues of employment for the rural poor

C).  Under it wages are paid f)artly in cash and partly in foodgrains

D) It provides employment opportunities only to the members of the

scheduled caste and scheduled tribe families.

VLS o)

Qi mreughl.

phycology

pedology.

ahs TN g@gpeﬁg’,élda 2 atenr  &cdvgyrileeilce ;_sLSlgg ulflby  Quomlurs

1968

2010.

When was Tamil introduced as an instructing language in Tamil Nadu colleges ?

47.  wevor LpHw LgEGD SPafwer i Liufley
| A) m&ﬁt.rrmg@ B)
C) owsarag D)
The study of soil science is
A)  cytology . B)
C)  mycology D)
48.
h hapsiuBsstul Heteng 2
A) 1970 B)
C) 1981 D)
A) 1970 B)
C} 1981 D)
49. Qs 2 wpsowg srenHb blac iemseer
A)  Sleulgmsee | B)
C)  BLGé Qadaar ' D)
Cells that initiate blood clottiﬁg is
A) RBC : B)
C) Thrombocytes D)
x

1968

2010.

GleusTT em e DS S e

By Gladues,

WBC
Nerve cells.

[ Turn over
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50. &L@U ueurent  Gafeureewiud — SeoLLUOS L@surréa@tb Sidlamyib
Q& mevor_eur/Cla:medoTL. g
CA) @kl GRurs Henevert
B) @hdw ungn@me&rmm
C) wsdu e uemnwrent Bgieuran e
D) wibhleo & @hbiT.
Which among the following can" provide for the appointment of a Joint Public
Service Commission ?
A) President of India B)  Parliament of India
C} UPSC D)  State Governor.
51. dpaeoreupniel erg ‘sBPHTLG 6T gy’ eeiny yempdaliu@Eng 2
A)  Geugmyedorwb B) #nonéaCGeausd
C)  slgr D)  w&TuelyTh.
Which of the following was called as 'Dandi of Tamil Nadu’ ?
A} Vedaranyam B) Thiruneiveli
C) Cuddalore D) Mahabalipuram.
52. ©Cymod earaud 2 Garesd sewaeauler 2 eer (phdluwrer 2 Garad
A)  @CGorfun B) dHase
C) CGuhsefeu D) smbyh ( &rou ).
The predominant element present in the alloy, Chromel is
A) Chromium B}  Nickel
Q) Manganese D}  Copper.
53. 1 &IBem el oovrveeriirernnn OULGEHHG:E FOb.
-~ A) 1000 B) 1042
C) 1024 D) 1001.
1 kB ( kilobyte ) is equal to .................... bytes.
A) 1000 B) 1042
C) 1024 D) 1001.
x
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B4. 2.o8 anerpPe Bs S sl sdessd sl bui, 1976-¢ Qeuefldl it
dopsd
A) 38 sugi B} 40 eugy
C) 42 eum . D} 44 eug.

The longest Amending Bill in the History of | the World is the ..............
Amendment in September, 1976. '

A}  38th B)  40th
C) 42nd D) 44th.
55. ellgeuen apeugeotd eTerLg
A)  péeeefler o boeyd, SpawseEnb
B) emfursefe hneD S@nHIepD
C) peflunt epevgerid
D) Blpeuengdle o eer simarpg eenfluiaeller Lemr wdiy.
Human capital refers to
A) people abilities and skills
B) experience and efficiency of employees
C}  money invested by individuals
D)  total money value of human beings in an organisation.

56. ulguwé I-6 2 cien SPPHT QST LDMEISST FraoTawhssmer ULgwéd H-& 2 efer
QEUILHCar(H @ wraL g CuTmsd, af’(Bch QarBiha U [Herer
@hifsaenés Qaran® eflurer alloLmug Carhes® -

uegwé I U igweo IX
( sBPHrgeT DGt FiTeOTTEWD ) ( @@l )

a) Geulieigly 1.  Quibueyr
b} eu@eylt 2. &Gyr(®
¢) sayblauy _ 3. Smeurent
dl  OeusirenGeu® 4. dleushens

eldpsear

' a b c d

A) 2 3 4

B) 4 3 .1 2

C) 3 4 2 3

D) 1 2 3 4
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Match- Tamil Nadu Bird Sahctuary locations in List I with their districts in

List II correctly and selcct your answer using the codes given below :

List I List II
{ Tamil Nadu Birds Sanctuary ) { Location )
a) Vettangudi 1. Perambalur
b) Vaduvoor 2 Erode
¢) Karaivetti 3. Tiruvarur
d) Vellavedu 4 Sivagangai.
Codes :
a b c d
A) 2 1 3 4
B) 4 3 1 2
C) 3 4 2 3
D) 1 2 3 4.

57. @hdureié erbg wrbled @)wmibussTE 2 pusdiier aperefoner cudlsdlesns 7
A St HTL &M B) gflevenr

C) slgevai D) QGameur.
Which state ranks first in the Iron ore production in India ?
A) Karnataka B} Orissa
Ci Chhattisgarh . D)  Goa.

58. Q@Qubdluis@pssrs 1940-60 a6l LIGD STH S HETGsTaL  aupRidu
Qb emerrerugmil
A)  Auuest Sy B) esmefli Sy
C)  eiser Ny ' D) oSeedigCamr Nyy.

The August offer was made to the Indians in August- 1940 by which of the
following Viceroys of India ?

A Lord Ripon B} Lord Canning

10} Lord Curzon D)  Lord Linlithgow.

x [11001 |
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shdram g4l eretip Quuit wrEs@Hug
A)  weerd wlahdlyeutives B)  Slibw eleyemy
C)  mrélbweutoe D)  cpeprd phdleutioes.
Who is called S_ankyrﬁa Sathi ?
A) Mahéndravarmanl B) | Sihﬁlha‘ Vis;,hnu
C) ~ Narasimhavarman ' D)  Nandivarman IIL
HPUGWIT BT CleUeiTUMOTEnE 6T HITQISHE CPEVET eTgl ?
A)  ueteiip UL eud - B)  Qleuegorumyy UL iguico
C) Qgmreasridub ' D) Qeussonodlioremnen.
The original text of the book “Purapporul Vent;a Maalai” is
A} Panniru Padalam B)  Venbaap Paattiyal
C) Thplkaappiyam D) Venmathi Maalai.
1986-b @ sblps sl CGoeme sowssULRL Curgy BT sasaarTs
@\whHseur Wi ?
A) C.P ébpys B} P.V. Qefluer
C) . Qur. Heugpreod | D)  P. H. umegonguest.
Who was the Chairman of Tamil Nadu Legislative Council when it was abolished
in 1986 7
A} C. P. Chitrarasu B) P. V. Cheriyan
C) M. P. Sivaganam D) P. H. Pandiyan.

o6 Cpiwss Caralihe gbug wreamaitas sebg CHTarLdld, Qaubdl Gub
DT GRTEUTHET  TEToTGOONGEHID, BfeUlT &6l Quibp LALCUETHEBD O L euenesoriles
Qar@ésiu. @eiergl. mbug wrameutssfildr eprefl wHLGL 425 e,

Baraler Qeubp Guprs wremeutamefes sgmef] wLEIQ LS wrg ?

LHIQLIGET &6 - | ' 4 5 . 6 7 8 9
@m@:ﬂ Qupp wremantss aemaflsens: 5 10 8 4 2 1
A) 2-705 B) 2-750
C) 2-075 ' Dy 2-507.
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. 63.

64.

65.

Fifty students appeared for an interview. Number of successful students and

their marks are given below :
Marks : 4 5 (3] 7 8 9
No. of successful students : 5 10 8 4 2 1

If the average marks for the fifty students was 4:25, the average marks of the
students failed is

A) 2-705 B) 2750
C) 2:075 D) 2507.

1 apses 2n cueny 2 citen 2n @Qud anaaiien sgmefl

A) n+l B) 2n +1
2 2
nin +1 nZn +1
C) ( ) D) —-(-——)
2 2
The average of 2n natural numbers from 1 to 2n is
A) n+l B) 2n+1
2 2
nin +1 ni2n +1
C) ( ) D) —L—-—)-
2 2

oaDLyps GEH ahe Qararanaier Siqriuenld SyembaieTeng) ?

A)  ise Nerey B)  ogmbenm Qenatia

Q) SiEmss(h eriflge D) Geudlweér alleneser.

The hydrogen bomb is based on the principle of
A) Nuclear fission B) Nuclear fusion
C) Nuclear combustion . D) Chemical reactions. .

Qe Jiflgemer gmedor@id emmiTGomes

A) < Srerdlet B) ensl GLrensmenen
C)  uuedlet D) adleesr.
Hormone which stimulates cell division is

A} Auxin B) Cytokinin

C) Gibberellin D)  Ethylene.
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" 66. utgué I g Ligué Ils 2 L Giurr@g,ggl, FCp QarPssiul peien GHDsmens
Qerer® shurer afomLamus Carsolad
uligweo I ugwen IX
( Qpisear ) ' [‘é.'lco)emu;r[gjassﬁ ) )
a) &@sﬁpmrr 1." &busev
b)  Syowysdyr 2. @ndlyred
c) GCosrgmeufl 3. e
d)  wqpeorm 4. .
‘ & 9
GOlWRsar :
a b c d
A) 4 3 1 2
B) 3 4 1 2
C) 4 3 2 1
D) 3 4 2 1
Match List I with List II correctly and select your answer using the codes given
- below :
List I List II
{ Rivers ) ( Their ’fributarles )
a} Krishna 1. Chambal
bl  Brahmaputra 2. Indravati
¢} Godavari 3. Tista
d) Yamuna 4. Bhima.
Codes :
a b c d
A) 4 3 1 2 |
B) 3 4 1 2
c) 4 3 2 1
Dy 3 4 2 1
X . { Turn over
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67.

68.

69.

70.

Sibg wpmid spiflam wreTThaer @bSlu yye s L UL gHURSSULL L G
A) 1909 B} 1919

C) 1935 D) 1947,

The provinces of Sindhu and Orissa were created by the Act of

A) 1909 B) 1819

C) 1935 D) 1947,

2 5ETCLesT sHQl( sEbh Ceud wrg 2

A)  Gemprare dymwsal ubh B) QGegraeefer & uph

C)  uresongur 4 & uHl D) udeeTETe Gaeser UHDH.

The message of the Uthiramerur inscription is

A) Cholar Kala Kirama Sabai B) Serarkalin Atchi Paftri

C) Pandiyar Atchi Patri D)  Pallavar Kala Kaligal Patri.

siinprigd  @geumy g e  GUUIsES soewet oy é
el Peferg 2 .

A RGP B) @yeo(® peom

C) CLpesTMl (PeDm D} mreng (peom.

How many times was the "President rule” imposed in Tamil Nadu ?
A) Once B) Twice

C) Thrice D)  Four times.

@rse Heuliugmdseilar enmad eurphmer

A) 20 - 120 Brlsel B) 30- 240 prl&efl

C) 10 - 100 mrlset | D) 2-20pm_&er.

The average life span of Erythrocytes is

A) 20— 120 days B) 30 - 240 days

C)  10- 100 days D) 2-20 days.

x {11001]
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B @ Bifcurasdled ot odamf. 2 &1 &p uadlyflyb et Bireurs Geuamesaer

allemyurer wande QeLdpmi eapre K aerer G Lot 7

A}  poeeb Jacunsddle epenpul@eumi

B) opuiesflLd aQEms Q&W&G& WpeorGearhmd & ey ety eyl gLt
C)  oeueny gparelsnrs Ceumele G Bhe BHame

D} ;9{6116'0‘}0' alinieend Cleligen.

You are a senior officer in an organisation. The staff working under you are

doing the office work in a clumsy way. What will you do ?

A) You will report to the Head Office
B) You will tell them and ask them to show improvement
C) You will suspend them
D) You will start criticising them.
72. Caeelld GHUE 2 orer GLsdld 2 _sien araioencmt HmHulig Haa
1 4 ?
4 2 5
2’ 2 3
49 64 169
A) 3 B) 6-
C) 5 D) 4.
Find the number in the place of question ( ? ) mark :
1 4 ?
4 2 5
2 2 3
49 64 169
A) 3 B} 6
C) 5 D) 4.
x [ Turn over
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73.  ufloreoflaer oeraifée
A) e Beves Eursn B) crill(gurrgm 2V 2601 (5
C) o GrssHerd . D)  @eubmer ergaubleemen.
A dimensionless quantity
A) never has a unit B) always has a unit
C) may have a unit D)  does not exist.
74. wrhle ¢l Guease 2 plullerésnen @emrp'@g;ul'_& G
A) 60 LwE ‘ B) 50 ewgl
C) 30 aug D) 18 suwg.

Minimum age limit to be a member of State Upper House is

A) 60 years _ B) 50 years
C} 30 years D) 18 years.
75, 'SLey QETENe UPSHE —oooreean. 2 L &7 Q@rLyem . wsi.
Ay " SNy 88l epsHS B) g &d) aupss
C) “@QDQH)Q)GG)JG& a8 sulpbE D) orait ¢ epsd.

‘Ash Murder Case’ was associated with
A) Alipur conspiracy case B) Meerut conspiracy case
C) Thirunelveli conspiracy case D}  Lahore conspiracy case.
76. sThpLsLGeT 2 Lenqurs Brllle Qarster LuaTu@d Caugll QuTeT ergl
A)  Gemgubd secosmi B] Qemgud sriuGerl
C)  Gemgubd evplengl D)  Qemgwbd Semsi.
Which chemical is used to expand ‘air bags’ instantaneously 7
A} Sodium sulphide B) Sodium carbonate
C) Sodium nitride D}  Sodium azide.
77. apr&c&mLsuﬁ)@jeﬁ a7 SemniQurMiiest Gleweur’ § Qwsr@uTEBeTTEGD ?
A MS-gyeSev ' B}  elaor@Lmen-erdenid

C) oyydlet D} Lmed,

x (17001}
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...... is an example of an operating system.

A} MS-Office B)  Windows-XP

C) Oracle - D) Tally.

BT HET-epTUr’ aTATLG THen 66T GlGTLALEL WS

A)  @premyueld B) saal flpeueid

C) O(HHGELDEHETT D)  eumeuml giemm.

‘Darul-Shafa’ was related with |

A) Army 7 ' B) Educational Institution

C)  Hospital D} ‘Revenue Department.

sy Hid ereTug)

A)  wsdllLb eseusb 2 dter CETUE + oww euhdlles eeuly + oW eSS
sy B _

B)  amdl shaselLd masgs Qarergpb ariy bl

C) emwow eurdllles &y B

D) w&sellLh oaaigh 2_eren CHTLE.

Reserve money is

A) currency with public + deposits with RBI + cash reserves of banks

B) cash Ireserves kept by banks with the‘mselves

C) cash reserves with the RBI

D) currency with the public,

FABBITD 1ooverrraenarereenrnarens GLwrubD GL-r@b.
A) QuCpmredlwib B) iHlessf
C) e&mhn e&d) D) gh&D.

Kayathar is famous for
A) Petroleum B) Coal

C)  Wind energy DY  Gold.

X [ Turn over
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81, &p Qan@ésiu@erereupiies abs Sirflus saoeapse 2010-60 Eropra@ alpm

memL Glubmg:?
A) g d. gmoemf Qg B) @ur. QeukisL gmwest
C)  @orysmb @yrer D) & sudyvesiub.

Which Tamil political personality's centenary celebration was held in 2010 ?
A) 0. P. Ramaswamy Reddy B) R. Venkataraman
C) Kumaraswami Raja D) C. Subramaniyam.
82. 2010 %L'D s@ngparear  Gureaflugbarer Grrud uflflwmer apaamen Guri
LRI QS Q\eiremLrraer 7-
A) 2 B) 3
C) 4 D)  eg@meut LD Qupp,
How many economists share Nobel Prize in Economics for the year 2010 ?
A) 2 B) 3
C) | 4 D) Only one person got it.
83. gumdles 2 wdGauGuw bl 2 wrwrer LT srediur’ em'_.ts;gé,&a'n 2_wiyid
A) 729 L&'_t_r'r&»e;'r B) 828 fiLiisel
C) 927 Sl Litaen D) 875 L&,
The height of the tallest building ‘Burj Khalifa’ in Dubai is
A) 729 metres B) 828 metres
C) 927 metrés | D} 875 metres.
B4, (pHS HDN SyeouINeD, 2 it TRE SIDhHEIETETE) ?
A} Uemel B) &Quomen
C) Swrd D) dlieuLe.
The first shark sanctuary in the World is
A) Palau B) Samosa

C) Miami D) Kingston.

x [11001 [401}
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Gamenm flarale wpad Quas pamdudlursg CatbOsBeetl et wrt 2

G A ——

A) ey Flerdléveur | B)  wrihgesm Gemes

—

C) Oapeodr demmis D) oriebiyl eme.
Who has been elected as the first woman President of Costa Rica ?
A) Laura Chinchilla B} Martina Cole

C) Helen Clark D) Margaret Chan.

. ————— e

2 aueé GHNE GP& Hatons sl saiu@b Hreh g 1

A) 81 25-b mref B} g®en 15-b pref !

-C). @O 5-b prrel D) 9w 15-b pref.

Which day is considered as World Envlfonment Day 7?7

A) 25th June B) 15th June

C} SthJune . D)  15th July.

2010 b geingd 2 e groshHifl aﬂ@aﬂgtj QlubHpeurt w7

Al Geareflur srpd B} wenGuoraen i
C)  wu. éﬂg;tour,rfn D} §l. . gmwer.
Who got the World Statesman Award for the year 2010 ?

A) Sonia Gandhi . B) Manmohan Singh
C)  P. Chidambaram D) C.V. Raman.
12-eugi Qsperélw ellaenur’ @O CuIrl g &seT HL&S GHeHGD Db
A)  yg O el B) Jemar

C) Grumend D) undlevugmedt.

The host place of 12th South Asian Federation Games is

A) New Delhi ' B) | Sri Lanka

<) Nepal D)  Pakistan.
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89. Guymfl Qewbeams&Caef-2 s;rsulllfui_'_l_ 171LE L AR
A) 23 Glelw bur, 2009 B} 23 gisGurut, 2010
C) 20 @etw_ur, 2009 D) 25 &»GLruir, 2009.
OCEANSAT-2 was launched on
A) 23rd September. 2009 B) 23rd October, 2010.
C) 20th September, 2009 D) 25th October, 2009.
90. Wugeufl, 2010-6v Aefler gHu . yaudhisHller serey ( AeLT serey@aralld )
A) ‘ 6-8 B) 7I-8
C) 88 D) 8-0.
The magnitude of Chilean earthquake with occurred on February, 2010 was
A) 68 in Richter scale B) 7-8 in Richter scale
C} 8-8 in Richter scale D)  8:0 in Richter scale.

91. @hdlu Cadlu Hararsdde Syl Gurdssul erer ‘ssu G Gpuls’ e
amsed adlellmhe aOEHLLL LS 2

Ay  M& Geugd B} useag oy
C) sHu Garaemen D) (peorL.& 2 ublesh.

Where the moito ‘Satyameva Jayate' inscribed below the Indian National

Emblem is taken from ?

A) Rig Veda B) Bhagwadgita

C) My Experiment With Truth D)  Mundaka Upanishad.
92. 2010 ob sy, yfagdhare yllilat alpergt Quppeat wrd 2

A)  J. K. Qronedli Bl  emhed pri

C)  urey apmITigh D} @eyeubd S,

Who was awarded ‘Pt{litzer Prize for Fiction’ in 2010 ?

A) J. K. Rowling B)  Arundhati Roy

C) Paul Harding D) Kushwant Singh.

x {11001}
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glgér, 2010-6 el GeuliubuoTee shSSThG “SjaTaner LBl BLb @i
A @pdun Bl Qureledur
C) Gpumerd ' B D)  euetorLed.

Global Warming Summit “Mother Earth” has been conducted -during
April, 2010 in '

A) India B) Bolivia

C) Nepal D) London.

Qidlunale Bla Fenomeo &L_(Se\mgﬂ Ledaow Qerar_ orheb ag) 2

A GmITs B)  sbipnr®

C)  Gayerr D) suhdlr WyGsen.

The Indian statc that has the longest coastline is

A Gujarat | B)  Tamil Nadu

C) Kerala D)}  Andhra Pra_desh.

gluge 26, 2010-6 ereonrQeoonls séley ghul L @)L b

Al QuafGan U ENTGHLIT B) Gumgetlur cuemengm
C) DedTeTTIT CUEDET GHLIT D) &sL& euemenglir.

The cil spill occurred in April 26, 2010 in

A)  Gulf of Mexico ' B)  Gulf of Bothnia

C) Gulf of Mannar D} Gulf of Kachchh.

ol Hssmeasdle E\mha mﬂ@aﬁ\éﬁéuu{_t_ Hureeflen geamrus Quatseas
A)  géuor B}  glblesr

C)  oyb-g-dl D) @Cemmflur su@eurl .
Thel Pro-Democracy leader of Myanmar who freed from house arrest is
A) Dilma B) Jimena

C)  Aung Su-kyi ' D)  Gloria Stuart.

X [ Turn over




ACSA 32

97. 26 geaufl, 2010 b Syogsn, éeduraldt 6l-cusy Gyurs Haalprade
ua@shn Sptiy eSphdlernt wrt 2
A} Gumessh 1Genr B)  upmé epumDT
C) givey ey D} o L&m-uﬁé,. 7
Who was the Chief Guest of India’'s 61st Republic day on 26th January, 2010 ?
A) Teony Blair , : B) Barack Obama
C) George Bush D) Lee Myung-Bak.

98. @hdlu sralle glye, 2010-60 2 heumen Sywest W&o GDIeuelisg eraer Gluw 7

A} g B) Jgilell

C)  asflerr D) e,

What Is the name of the Tropical Cyclone which originated in Indian Ocean on
April, 2010 ?

A} Jal | B) Bijli

C) Katrina D) Agni.

99. @pndu GoubemssGamer ysiefl olsurhimerer . . BT. lgubealefl s
Lwes LB S peupDaTse ghull ISRO-NASA aUUbsD @bs prefley emaQuupssrearg

A) 20 peupLir, 2009 B) 20 &&G8Lmui, 2009
C) 10 meuburr, 2009 D) 15 meuburt, 2009.

The ISRO-NASA pact was signed for the use of data from Indian satellite for
US Space Agency on

A) 20th November, 2009 B) 20th October, 2009

C)  10th November, 2009 D) 15th November, 2009.
100. 2010-60 @hdlw Caige ememusdler, g enamuyrs Hlubasnu’ Ll wrr ?

A} smevgif] B) anfletss Slybor

C} s&bus D) Jyeler @i,

Who was nominated as Election Commissioner to the Election Commission of
India in 2010 ?

A) Sastri B) Harishankar Brahma

C) Sampath D)  Praveen Kumar.
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101. ulqués I & 2 efar ysPOUDD Erasmer ulgué I 2 arer HTeordlilutsem e -
Qurepsd, &8p GerPasiu feren GRGemears Ceran® sfurar ol anws

Caipols® .
uC.gwéo I : uligwés IX
Y& polmm mmey | g:jm)’!réjfﬁwrf
1. seaoanaLm{® 3. urydlgmees
2. &rhéluibend hHsTd) 2. uryglurd
\ 3. bl fiflay &) Geugprusd Yerever
4. ndpre Sl F. Spélu QersspTet.
eoldpser : : !‘;’ \
1 2 3 *q
A) Y & " %
B) 2 7 @ =2
C) 2 " S )
D) @ 43 R 3.

102. ulguéd I & oeren Qerhomeer ulgue I-é 2 eer QerpOurgendibg, FCP
Qer@ssiul Merer Ghlpsmeansd: Qaran® sflurer alloLous CaisClsd :

ucgué I uligweés IX
& meb - Qe
1. urfleo 9. Ggieug
2. &y 2, BUHE
3. an(Deugy @ zedld
4. mT . DBI&6HG.
GolRser :
1 2 3 4
A) = 2 2 R
B) @ i 3 2
C) 2 W @) 2
D) G 2 % &l-

x 11001 ] [ Turn over
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103. ulguwé I e 2 efien HITevsener uuqtu& II-60 o efien premdifurs@sLar QUrEesSH, S8
Qer@ésiulGeten @PluUfsmend Qarcn@ sflurear el mug Carrde® :

uligwés I L qwé IX
Brey o mreurdliflut
1. &0 afyév o @rrnéspdlys salymui
2. ydu allgwe S, urgglume
3. sefllurLé @. sryruryd
4. urepeTellsugb F.  yLIgIe0 mELomest.
eBBser ;-
1 2 3 4
A) ) = < %
B} . ® @ 2 2
C 2 @ i
D) & 8 .

104, ulguwe I 6 oeier Qerhsemer ulguéd II-é 2 6ten QerpOur@etdbs, SCup
Qar@ssiuGerer GHluU@semeans Qaran@ sflurer afloamws Carhs® :

uLigweo 1 uliguweo II
Glamey Clurgser
1. yyel &, B
2. @meuid &), by
3. yerey 8 odlor
4. yeulb F. 2 eu&b.
Gl Reer
1 2 3 4
A) 2 A\ 2 &
B} & i =2 2
&) B 1} X F )
D) F =N @) 3.
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105. ucgque I 6 2efer Qarpaever ulguéd II-6 o_efien  Qemh@UT®HeTSlHS, &Gy
Oar@ssiiuc Herar ghUiGeomas Qardn® sflurar allaows Carbsh :

106.

107.

108.

109.

110,

x 11001}

L g o I ulgwe IX
Glemed Clurgpert
1. Qumgubu 2. @irey
2. peolley <, Geremen
3. o N @. Gumer
4. yuib .  Gasmub.
soliipser
1 2 3 4
Al i 2 & 3
B} 2, i3 2 &
Cl @ = i 2
D) -] @) 2, *.
‘WesBTEN 6 ereTD e Cuomfures Apuflsasiu@n mre
A)  eusmenwrug) Bj SIS HTETD)
C} deusdlphsmoean D) @ alassl.
U (&G am e wirit
A) 8 BUILIT 6501 & [h & ITLD B) emaugupsgl
C)  Guydies pecorasim Ij) UL G&Garl oL oypdifl.
 SRSLDH & esoTeoell” eTesTmen P HiLBLeUIT
A)  smorldl B)  oyeuonmel
C) e 8 _ D)  eleremiédl.
‘Quipens eurpeallded ereitny GuUTHDUILED EHITe
A)  Slevudlaryb B)  SRGDIETD
C}  efeduun @ D} Hmsspsi.
‘Glgmeuebledr g eveur eredim) e ipsd & LLHLIGLT
A} gr. 8 CegiSlefremen B) @@L wierener
C}  &r. &. Oeener D) Jeremer@Quepomer.
[#01] { Turn over
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111. Ofsg sr(pge : Srsef

A) & +aal B) g + e
) &b+ e D) &b +oef.
112. Oiflsey epas : Qurp@am GGugm
A Qurp + Gamli@m + Cug B) Qures + Gar@® + G
C) OQurpGar@ + G - D) Qurer + Gaml GGLE®.

113. Sflsm awas : @ruuntsQareideurt
A)  @uUurT + epedTDy + Feumit ' B) @puurisQareny + Foumit
C) @uuurié@ + 6T + Feumt D) @Quuuniég + ey + Feur,
114. ONggy arpas : LPHGS
A) uwp + &% B) LRI + GG
C)  upeow + @Y D)  uehpw + @Y.
115. Jfgs e : apyaileor
A) ey + @evr B) g + afler
C) pyeler + 3y D) @ + @geveur.
116. sig)i&Qeme sme : Lgsnw
A)  ydusme k B) upeow
C)  JSepeow ' D) yeveow.
117. adlisQené sxe : oOus |
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GENERAL KNOWLEDGE WITH GENERAL TAMIL

[ Maximum Marks : 300

Read the following instructions carefully before you begin to answer the questions.

2,
3.

10.

11
12,

13.
14.

IMPORTANT INSTRUCTIONS

This Booklet has a cover ( this page ) which should not be opened till the invigllator gives signal to
open it at the commencement of the examination. As soon as the signal is received you should tear
the right side of the booklet cover carefully to open the booklet. Then proceed to answer the
questions. '
This Question Booklet contains 200 questions.

Answer all questions. All questions carry equal marks.

The Test Booklet Is printed in_four serics e.q. or [D](See Top left side of this page).
The candidate has to indicate in the space provided in the Answer Sheet the series of the booklet.
For example, if the candidate gets serles booklet, he/she has to indicate In the side 2 of the
Answer Sheet with Blue or Black Ink Ball point pen as follows :

(A (81 (criD]

You must write your Register Number in the space provided on the top right side of this page. Do

not write anything else on the Question Booklet.
An Answer Sheet will be supplicd to you separately by the Invigilator to mark the answers. You

must write your Name, Register No. and other particulars on side 1 of the Answer Sheet provided,

failing which your Answeg, Shect will not be cvaluated.

You will also encode your Register Number, Subject Code ete.. with Blue or Black ink Ball point pen
in the space provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to
encode the above information, your Answer Sheet will not be evaluated.

Each question comprises four responses (Al (B), (C) and {D}. You arc o select ONLY ONE correct
response and mark in your Answer Sheet. In case you fecl thal there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response
for cach guestion. Your total marks will depend vn the number of correct responses marked by you
in the Answer Sheet.

In the Answer Sheet there are four brackets [ A J[ B ]| C ] and | D | against each question. To
answer the guestions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each question. Seclect one response for cach guestion in the Question Booklet and mark in the
Answer Shect. If you mark meoere than cone answer for one quiestion, the answer will be treated as
wrong. e.g. I {or any item, {B) is the correct answer, you have to mark as fotlows :

(] R C)ID]
You should not remove or tear off any sheet from this (Question Booklel, You are not allowed to take
this Question Bookliet and the Answer Sheet out of the Examination Hall during the examination.
Alter the examination is conciuded. you must hand over your Answer Shect 1o the Invigilator. You
arc allowed 10 take the Question Booklet with you only after the Examination is over,
The sheet before the last page of the Question Booklet can be used tor Rough Work.
Failure to comply with any of the above instructions will render vou liable to such action or penalty
as (he Commission may decide at their discretion.
For Question Nos. 1 to 100 in all matters and in cascs of doubd. the English Version is final.
Do not tick-mark or mark the answers in the Question Booklet,
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